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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 39226623401 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The magazine “Chandamama™ Was started by

1. Bapu, Ramana
2. Nagireddy, Chakrapani
3L Venkata Parvatheesa Kavulu

4. Andhra Pradesh Children Academy
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Options :
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Question Number : 2 Question Id : 39226623402 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding Author and book

(1)
(11)
(111)
(iv)

Options :
1. %1
2. %2
3.3
4. % 4
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(a)
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David Copperfield
War and Peace
Origin of Species

Divine Comedy
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Question Number : 3 Question Id : 39226623403 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Kherai Puja’™ belongs to this tribes

1. Gond
2 Kol
3. Bodo

4. Baiga
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Options :

1. %1

2. % 2
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Question Number : 4 Question Id : 39226623404 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The concept of “Fundamental Duties”™ of the Indian
Constitution is taken from this country constitution

1. Russia
2. England
3, Germany

4. Australia
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Question Number : 5 Question Id : 39226623405 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Stainless steel” invented by
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Options :
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2.% 2
3.¢4°3
4. % 4



Question Number : 6 Question Id : 39226623406 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Junk e-mail 1s also called as

1. Spoof
2. Spam
3. Spool
4. Virus
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Question Number : 7 Question Id : 39226623407 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One famous book “The Daughter of the East™ is written by

L. Taslima Nasreen

2

Sirimavo Bandarunaike

Benazir Bhutto

L

4. Aung san Suu Kyi
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Question Number : 8 Question Id : 39226623408 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Name the first Indian businessman who found place in the
cover story of Forbes Magazine

ks Narayana Murthy

2 Dr. Reddy
. Anil Ambani
4. Azim Hasham Premji
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Question Number : 9 Question Id : 39226623409 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Guillain Barre syndrome (GBS) is a

-2

4

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Nerve disease

Communicable disease
Autoimmune disorder

Type of respiratory mechanism
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Question Number : 10 Question Id : 39226623410 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The war ship inaugurated by Indian Defense Minister at
Kaliningrad Yantar Shipyard in Russia is

1. INS Vikranth
INS Tushil (F-20)
3. INS Kiriti

INS REWElth
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Question Number : 11 Question Id : 39226623411 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

15" Aero India expo held in this city

L. Jaipur

bt

Puducheri
3 Cahikat

4. Bengaluru
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Question Number : 12 Question Id : 39226623412 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

49" Imam of Nizari Ismaili Muslims

1. Prince Aga Khan - 2

[

Prince Aga Khan - 3

8]

3. Prince Aga Khan - 5
4. Prince Aga Khan -4
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Options :
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Question Number : 13 Question Id : 39226623413 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Country’s first Robotic godown that runs by artificial
intelligence will be established in this port

1. Ramaya Patnam
5 Bandar
i Krishna Patnam

4. Surya lanka

f ’J”H ';F ".'-.- ® L - b L -
Kbl AE sy _J::,JJUH#.:.&Q:JF‘; 194 S (V2 Pyetug

-
lr:‘f:;_',i;' 3
ﬁi' i 4
Options :
1. % 1
2.2
3.%3

4. % 4



Question Number : 14 Question Id : 39226623414 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Tropex-2025 is aimed to

1. Coast guard

2 Production of cars

3, Cloud computing

4. Industrial investments

< +#*€ Tropex-2025
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Options :
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2. %2
3.% 3
4. % 4



Question Number : 15 Question Id : 39226623415 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Aryana Sabalenka : Tennis : : Charith Asalanka :

1. Gymnastics
2 Cricket
B Chess

4. Kabadi
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Question Number : 16 Question Id : 39226623416 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is NOT related to artificial intelligence
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1. Chat GPT
Deep Seek
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Google Gemini

4. Destination Sink

Options :
1. %1
2.% 2
3.% 3
4.9 4

Section 2
Section Id : 392266755
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions :
Number of Questions to be attempted :
Section Marks :
Maximum Instruction Time :
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Sub-Section Number :
Sub-Section Id : 392266865
Question Shuffling Allowed : Yes



Question Number : 17 Question Id : 39226623417 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to NCF 2005, evaluation for Grade 1 and 2 should

be conducted 1n this manner

L Oral
2 By conducting quiz
3 Through close observation

4, Through written exams
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Question Number : 18 Question Id : 39226623418 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Minimum age for girls to enter “Kasturba Gandhi Girls
Schools™

l. 6 years
2. 8 years
3. 10 years

4. 12 years
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Question Number : 19 Question Id : 39226623419 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Following road safety rules is a

i Social value

o

Democratic value

A Moral value
4. Aesthetic value
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Question Number : 20 Question Id : 39226623420 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This type of Naturalism believes in Charles Darwin’s theory of
evolution

I Physical Naturalism

28 Mechanical Naturalism
3. Biological Naturalism
4. Historical Naturalism
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Question Number : 21 Question Id : 39226623421 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This statement is true about “Toles™ in Bengal

E: “Toles™ were institutions teaching Urdu and other
subjects

Z. “Toles™ were vocational training counters for artisans

3 “Toles™ were institutions teaching Sanskrit and other
Subjects

4. “Toles”™ were administrative centers for the Moghal rulers
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Question Number : 22 Question Id : 39226623422 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to NEP - 2020 this B.Ed course 1s available to those
who want to become a teacher with a 4 years multidisciplinary
Bachelor’s Degree

1. 4 years B.Ed Course
pA 2 years B.Ed Course
5 i 3 years B.Ed Course
4. 1 year B.Ed Course
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1. % 1
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Question Number : 23 Question Id : 39226623423 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s NOT the reform regarding exam by NCF 2005 from
the following

Options :

1.v 1
2.% 2
3.%3
4.% 4

The exam should not be conducted.
Assessment should be conducted as diagnostic activity
Assessment should be comprehensive.

Implement Continuous Comprehension Evaluation
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Question Number : 24 Question Id : 39226623424 Question Type

Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This is not a financial register

1. Cash book

]

)

3. Property register

4. Pay-bill Register

Options :
1. % 1
2.% 2
3.3
4. % 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Acquaintance register

: MCQ Option Shuffling : No
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Question Number : 25 Question Id : 39226623425 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A baby first addresses all men as “dady’ and then uses that
term only for his own father. This statement satisfies following
Principle of Development

l. Development follows a definite direction
24 Development proceeds from general to specific
3. Different developments are interdependent

F

Development is a continuous process
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Question Number : 26 Question Id : 39226623426 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Educational opportunities influence the development of an
individual, the correlation between the school facilities and

individual development is high™ This was mentioned in the
book

4
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1, Educational Determinism
2 Hereditary Genius

& Oxford English Dictionary
4. The Environmental child

Options :
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Question Number : 27 Question Id : 39226623427 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Early Childhood stage is

1. According to parents — Gang age
2 According to psychologists — Troublesome age
3. According to parents — Imitative age
4, According to psychologists — creative age
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Question Number : 28 Question Id : 39226623428 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statement for “Social development’

E: According to Sorensen, it 1s the attaining of maturity in
social relationship

2. According to Hurlock, ability to work along with other
3 According to Garret, transformation of a biological
being into a human being.
4. According to Maclver, a desired behaviour to live with
others
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Question Number : 29 Question Id : 39226623429 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Attributing life to non-living things

. Ego centrism

2. Object permanence
3 Animism

4. Super Ego centrism
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Question Number : 30 Question Id : 39226623430 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statement

3: Srinivasa Ramanujan 1s a mathematical genius but
doesn’t speak English. So there are Inter individual
difference here

R: Two brothers belong to the same family elder brother
can read well and younger one can write well. So
there are Intra individual differences here

1. S. R both are true

2 S - true, R - false

3 S - false. R - true

4. S, R both are false
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Question Number : 31 Question Id : 39226623431 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify correct statement according to Wallas

H: Creativity emerges in the form of a sudden flash
in Insight stage

S: Creativity is evaluated in Proving stage
L. "H™ only true

2, *S” only true

3. H. S both are true

4. H. S both are false
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Question Number : 32 Question Id : 39226623432 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Raven’s Standard Progressive Matrices test is

L Non-verbal, Group and Paper Pencil test
Z Group. Power test
3 Paper pencil, Verbal test
4, Non-verbal, Performance test
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Question Number : 33 Question Id : 39226623433 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

One of the following is not a correct statement

1. *Ability” refers to the current state of a person

I

"Achievement’ refers to the past stage of a person
3 "Aptitude’ refers to the future stage of a person

4. Attitude scale was developed by Stanly Hall
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Question Number : 34 Question Id : 39226623434 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is not a correct pair

1. Kretschmer - Germany
& Spranger - Switzerland
e Hippocrates - Greek
4. Sheldon — USA
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Question Number : 35 Question Id : 39226623435 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is not related to “Ink blot test’

i [t is designed for adults
2 [t is a projective test
3. [t consists of five white and five red cards
4. There is no particular time to conduct this test
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1. %1
2. %2
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4. % 4



Question Number : 36 Question Id : 39226623436 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“A Clerk has shown his anger towards officer on to the files™.
This 1s related to the defence mechanism.

L Compensation
Z Withdrawal

3 Regression

4. Dispalcement
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Question Number : 37 Question Id : 39226623437 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the correct statement from following

a: A student learned the plural of ‘book’ as ‘books’,
learned the same plural of ‘pen’” as “pens’. This relates
to positive transfer

b: A student learned “but’ and it pronounced as “but’. In
the same way he learned “put’ and pronounced it as
‘pat’. This refers to positive transfer

1. a. b both are correct
2. a, b both are incorrect
3. ‘a’ only correct
4. ‘b’ only correct
;i‘gp‘ut‘;djdbg L3
S “pen’ ;_slfﬁLWE,;J,#i ‘books’ ¥ ‘hook'r‘h b Ll :a
e ;.gﬁ*:.-ﬁ J’l’TFJI_ﬁL L‘bﬁig,;;:hf. ‘pens’ Mo
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AE U bl a 5
LG bl a 2
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-
et v e 4
Options :
1. %1
2.% 2
3.3

4.% 4



Question Number : 38 Question Id : 39226623438 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is NOT related to “Bruner Theory of

[nstruction’

a. Priority should be given to Student’s self-learning

b. Learning material is important rather than method of
teaching

I “a’ only

2: ‘b’ only
3. a and b are not correct
4. a and b are correct
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Options :
1. %1
2.¢2
3.%3

4, % 4



Question Number : 39 Question Id : 39226623439 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

[dentify the wrong statement

1. Despite the experimental extinction of conditioning is
done, conditional reflex may occasionally arise

2 Usage of conditioned response as conditioned stimulus
is called higher order conditioning

3. The higher the reinforcement the stronger the
conditioned response

4. Unconditional stimulus 1s continued after conditioned
stimulus, the conditioning will be stronger
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Options :
1.% 1
2.2
3.%3
4. % 4



Question Number : 40 Question Id : 39226623440 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to ‘Kirk’, identification methods for Learning

Disability are

a. Medical Tests

b. Professional skills Test

G Study of family, School and Environment
d. Study of behaviour

- u,/J’f- R "'_:If'i'l -
Bl FLLS 5B Sni Y0 L
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b, ¢, d

4. a.b.d

Options :
1.v1
2. %2
3.% 3
4. % 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :
Maximum Instruction Time :
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Section 4
392266757
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Mandatory
24
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Sub-Section Number : 1
Sub-Section Id : 392266867
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 39226623441 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

=5 3
-:.ui:j “1’
Options :
1. %1
2.% 2
3.%3
4.9 4

Question Number : 42 Question Id : 39226623442 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.¥ 1
2.% 2
3.%3
4. % 4



Question Number : 43 Question Id : 39226623443 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 44 Question Id : 39226623444 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.% 1
2.% 2
3.3
4. % 4



Question Number : 45 Question Id : 39226623445 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.¥ 1
2.% 2
3.% 3
4. % 4

Question Number : 46 Question Id : 39226623446 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
rSIJERSATZ S|
1978 ¢.22 /30 A

1998 ~5/18 2
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Options :

1. % 1

2.9 )

3.% 3

4.% 4



Question Number : 47 Question Id : 39226623447 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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dogt” st .3
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Options :
1.% 1
2.% 2
3.3
4. % 4

Question Number : 48 Question Id : 39226623448 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.% 3
4.9 4



Question Number : 49 Question Id : 39226623449 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.92
3.% 3
4. % 4

Question Number : 50 Question Id : 39226623450 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2. % 2
3.¢¥3
4. % 4



Question Number : 51 Question Id : 39226623451 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 52 Question Id : 39226623452 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.9 1
2.% 2
3.%3
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Question Number : 53 Question Id : 39226623453 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.% 2
3.%3
4.9 4

Question Number : 54 Question Id : 39226623454 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.% 1
2.% 2
3.% 3
4.9 4



Question Number : 55 Question Id : 39226623455 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.¥ 1
2.% 2
3.% 3
4. % 4

Question Number : 56 Question Id : 39226623456 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. % 1

2.% 2

3.3

4. % 4

Sub-Section Number : 2

Sub-Section Id : 392266868
Question Shuffling Allowed : Yes



Question Number : 57 Question Id : 39226623457 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.% 2
3.%3
4.9 4

Question Number : 58 Question Id : 39226623458 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.¥ 1
2.% 2
3.% 3

4.% 4



Question Number : 59 Question Id : 39226623459 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 60 Question Id : 39226623460 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.9 2
3.% 3
4. % 4



Question Number : 61 Question Id : 39226623461 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2. % 2
3.% 3
4.9 4

Question Number : 62 Question Id : 39226623462 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 63 Question Id : 39226623463 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 64 Question Id : 39226623464 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.9 2
3.% 3
4. % 4
Section 5
Section Id : 392266758
Section Number : 5

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 24
Number of Questions to be attempted : 24

Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266869
Question Shuffling Allowed : Yes

Question Number : 65 Question Id : 39226623465 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the declarative form of “What a great performance’!

1. The performance, what a great one!

1

The performance is great.

]

3, How great is the performance!

4. What a Great is the performance.

Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 66 Question Id : 39226623466 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
They play basketball every Sunday.
Choose the negative form of the sentence above.
1. They does not play basketball every Sunday.
2. They did not play basketball every Sunday.
3: They do not play basketball every Sunday.
4. They do not plays basketball every Sunday.

Options :
1. %1
2. %2
3.¢¥3
4. % 4



Question Number : 67 Question Id : 39226623467 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the adjective that can not be used in superlative
degree.
I. beautiful

2 industrious

3. talented
4. universal

Options :
1. %1
2. % 2
3.% 3
4.9 4

Question Number : 68 Question Id : 39226623468 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Several of the girls are beautiful.

In the sentence above. ‘several’ is

1. an adjective
2. a pronoun
3. an adverb
4. a preposition
Options :
1% 1
2.2
3.% 3

4, % 4



Question Number : 69 Question Id : 39226623469 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

['m afraid I must ask you both what (do) yesterday at
10.20 pm.

Choose the option that fits the blank.

L did you
2; you were doing
3. were you doing

4. did not do

Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 70 Question Id : 39226623470 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The radio has been playing since 7 a.m. I wish someone
(turn) it off.

Choose the option that fits the blank.

1. would turn
2. will turn
3 turn
4. has been turning
Options :
1.v1
2. %2
3.% 3

4.% 4



Question Number : 71 Question Id : 39226623471 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

He dwelt effective communication media in modern
society.
Choose the preposition that fits to blank.
L by
2. on
e 3 to
4. n
Options :
1. % 1
2.2

3.%3
4, % 4

Question Number : 72 Question Id : 39226623472 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
[ congratulated the winners in the competition the
principal
1. in behalf of
2 on behalf with
3. for behalf of
4. on behalf of
Options :
1. % ]
2. % )

3.%3
4.9 4



Question Number : 73 Question Id : 39226623473 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
[dentify the word with a silent *d’.

L, dash

2

dolphin
3 Wednesday
4. direct

Options :
1. % 1
2. % 2
3.¢¥3
4. % 4

Question Number : 74 Question Id : 39226623474 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the word that comes before the word *month™ when
the words are arranged in alphabetical order.

L. mathematics
2. mother
3. mutter
4. mould
Options :
1.v 1
2. % 2
3.% 3

4, % 4



Question Number : 75 Question Id : 39226623475 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
[ have little money left, let's have dinner in
restaurant.
Choose the correct set of articles that fit the respective blanks.
l. a, a

2 4 a. an

fad

the, the
4. an, an

Options :

1.v 1

2.% 2

3.%3

4. % 4

Question Number : 76 Question Id : 39226623476 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

[ bought steel produced at Visaka Steel Plant.

Choose the article that fits the blank.

L a
2. an
2 the
4. No article 1s needed
Options :
1. % 1
2. % 2
3.3

4.% 4



Question Number : 77 Question Id : 39226623477 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“The Lost Child” is a short story by
L. Ruskin Bond

Mulk Raj Anand

3. Roald Dahl

o

.

4. Somerset Maugham

Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 78 Question Id : 39226623478 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
“The Selfish Giant™ by Oscar Wilde is a story that explains the
theme of

1. identity
2 Hard work
3, Jealousy
4. generosity and kindness
Options :
1% 1
2. %2
3.%3

4.¥ 4



Question Number : 79 Question Id : 39226623479 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In an essay. a thesis statement accomplishes the following.

1.

[

o

Options :
1. % 1
2. %2
3.3
4. % 4

Introduce the main points of the body paragraphs
Provide a summary of the conclusion
Present the main argument or central idea

Offer suggestions for further research

Question Number : 80 Question Id : 39226623480 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

[dentify the technique that is used to hint at future events or
outcomes in a story.

1. Procrastination
2 Foreshadowing
3 Flashback
4. Red herrings
Options :
1. % 1
2.9
3.% 3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 392266870

Question Shuffling Allowed : Yes



Question Number : 81 Question Id : 39226623481 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The level of cognitive objectives that involves the ability to
understand the mood of the writer is :

1. knowledge

2. comprehension

%

3. Application

4. Evaluation

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 82 Question Id : 39226623482 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the incorrect statement about the nature of the English
Language.

. English is a static language and never changes
2. English is influenced by various languages over time.
3 English is a complex and evolving linguistic system.
4. English is affected by culture and social factors.
Options :
1.¢ 1
2. %2
3.% 3

4. % 4



Question Number : 83 Question Id : 39226623483 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Enabling the students to use appropriate technique in different
types of writing is an objective of teaching

L. prose

2 poetry

¥

3. drama
4. composition
Options :
1. % 1
2.% 2
3.%3
4.¥ 4

Question Number : 84 Question Id : 39226623484 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The structure of a sentence 1s :

1. arrangement of syllabus
2. arrangement of alphabetical order
3. meaningful arrangement of words
4. order of adjectives

Options :

1. %1

2. %2

3.¥3

4, % 4



Question Number : 85 Question Id : 39226623485 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The English Teacher’s Kit is useful to :

1. develop a set of easy to use material

-2

score more marks in entrance examinations

¥

3. measure the interests of students
4. organize events like annual day

Options :
1.v 1
2.% 2
3.% 3
4. % 4

Question Number : 86 Question Id : 39226623486 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Curriculum 1s :

i a plan that provides learning opportunities
2, a plan that shows how to teach a lesson
3. a test that aims at physical strength
4. a book that has all topics of science
Options :
1.¢ 1
2. %2
3.%3

4. % 4



Question Number : 87 Question Id : 39226623487 Question Type
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Oral Method of teaching was proposed by :

[

=

4.

Options :
1. % 1
2. % 2
3. % 3
4.9 4

Henry Sweet
Edward

Hymes

Harold E Palmer

: MCQ Option Shuffling : No

Question Number : 88 Question Id : 39226623488 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is not a psychological factor that affects
second language acquisition ;

1. A mbience
2. Motivation
3. Aptitude
4. Attitude
Options :
1.¥ 1
2.% 2
3.% 3
4. % 4
Section 6
Section Id : 392266759
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24

Number of Questions to be attempted : 24



Section Marks : 12

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266871
Question Shuffling Allowed : Yes

Question Number : 89 Question Id : 39226623489 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Multiplicative identity for whole numbers
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Options :
1. %1
2.% 2
3.3
4. % 4



Question Number : 90 Question Id : 39226623490 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The greatest 4 - digit number that 1s exactly divisible
by 16, 20, 24 is

. -
i

&t o L -
e lni P 16,20,24 2045 #0-4e[ 7% oy

1. 9960
2 9720
3 9840
4. 9920

Options :

1. % 1

2. %2

3.3

4.% 4



Question Number : 91 Question Id : 39226623491 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
A car takes 1 hour 40 minutes to reach the destination by
travelling at a speed of 60 kmph. If the car travels at an extra

speed of 20 kmph, number of minutes in advance will it reach
the destination

-.:"'__L}{ﬂﬂ |r'*|,_,":~_-~"40,—* 1._.!";*_.;' F h—-,-"Lf.JL,r’Jh e Pf)(];bu.abf
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1 15
2 20
3 23
4 30
Options :
1. %1
2. % 2
3.¥3

4. % 4



Question Number : 92 Question Id : 39226623492 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The amount to be repaid on 12000 at 2.5% per annum simple
interest after 2 years

A s o Sl 2 s 22l 2.5% 4f 48 212000
B T 12600
T 12800
T 13000

4, I 13200

I

bd

Options :
1.v 1
2. %2
3.% 3
4. % 4



Question Number : 93 Question Id : 39226623493 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

I[dentify the quadrilaterals in which the diagonals are
perpendicular and bisect each other.

L, Parallelogram and Rectangle

]

Trapezium and Rhombus

(%]

Square and Rectangle
4. Rhombus and Square
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Options :

1. %1
2. % 2
3.% 3

4.¥ 4



Question Number : 94 Question Id : 39226623494 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

[f the number of faces and vertices of a polyhedron are 20, 12
respectively. then number of edges is

- - =
T " , - = el &
IS TOLY v ('——-u”._;v"‘i_,,l_f: 12 431 20 — i

] ; | | |
b_.-u”;;.!'ru,fr_-. e n.-:'.f !

1. 32
2. 30
3 22
4 20

Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 95 Question Id : 39226623495 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

ZP is equal to its complementary angle and Z£Q is equal to its

supplementary angle then ZP:Z0Q=

- ” . 0 = r’f rl | l'ﬂ - "L;: |"P-'
- Ut L i QU 1 £0 Jfl.:;_u:w»f_.::l';glﬁ a1 2
LP:/Q=
1 143
2 152
3 gl
4, s ol
Options :
1. % 1
2.9 2
3.% 3

4. % 4



Question Number : 96 Question Id : 39226623496 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

All the diagonals of a regular hexagon ABCDEF are
intersecting at *O". Then ZAOC =

(bt

ZA0C= .3 /T (O 752 ABCDEF Ua i
. 120°

2. 60°
3. 45°
4. 30°

Options :
1.v1
2. %2
3.% 3
4. % 4



Question Number : 97 Question Id : 39226623497 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

1

It .T=E then the value of 2x(4x—5)+7 is
- If' a I e
A0 2x(Ax—5)+T ¥ xz;;‘ f
3
g B
9
,
9
) 13
o [ —
3
41
4. —
9
Options :
1. % 1
2. % 2
3.% 3

4.¥ 4



Question Number : 98 Question Id : 39226623498 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

3 BT
Value of qu }: 1S
X6
TN RIS
YT 56
|
1. —
2
2 2
3 5
"I
5

Options :
1.¥ 1
2.% 2
3.% 3
4. % 4



Question Number : 99 Question Id : 39226623499 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

: | L
If x+—=35, then value of —— 1s
X X
T e 7
r Ih: -4 -‘-F‘_r.-"): .-T+__ .-f" r
o X
| 23
2 2]
3 25
4 28

Options :
1.¥ 1
2. %2
3.% 3
4. % 4

Question Number : 100 Question Id : 39226623500 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The perimeter of a rectangle is (4x—8) and its width 1s (x—35)

then length of the rectangle is

™

Cor 6T e (x=5) P FEU 19 (4x—8) bt 2 (]
. 3x—3
2. 3x+5
3 3x—13
4. x+1
Options :
1. %1
2.% 2
3.% 3

4.9 4



Question Number : 101 Question Id : 39226623501 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If a dice thrown once, then the probability of getting
composite number on it is

el = £ el i {phr w C1d 3

1
l. —
3
B
3
X 1
=¥ —
2
4. -
6
Options :
1.v1
2. %2
3.% 3

4. % 4



Question Number : 102 Question Id : 39226623502 Question Type : MCQ Option Shuffling :
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The following DO NOT have line symmetry

L?Lgﬁu{fk}';;ﬂu’:i OVS)

] X, 0
2. A.B
3. F, G
4. i1 €

Options :

1. % 1

2.% 2

3.¥3

4, % 4



Question Number : 103 Question Id : 39226623503 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
A o g
A man travelled 5 of his journey by a train, 7 by a bus and

the remaining 16 km, by an auto. The total distance he
travelled (in km)

2 o3
= :I-" o 4 -] il d - |'-.a -~ AR ﬁ? r""
16 kmQL 25 () 2 — :,.:;;'J.'.;.;_,t;,ﬂ?— b eI i

" v . | I-s=‘ | : I.-" e %
(L)l LS 25L Jie b/ & 25

l. 300
2. 280
A 240
4. 120

Options :

1. %1

2.92

3.% 3

4. % 4



Question Number : 104 Question Id : 39226623504 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The height of a cuboid whose volume is 275 cm® and base area
is 25 cm? is (in centimetres)

(2 EDS e SV .._..J:..J;.?L.Iséz,:?;(f_.,a-:;ﬁ' 25 em? sl 275 em?
1. 1]

2 15

3. 9

4. 12

Options :

1.¥1

2.% 2

3.% 3

4. % 4

Sub-Section Number : 2

Sub-Section Id : 392266872
Question Shuffling Allowed : Yes



Question Number : 105 Question Id : 39226623505 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“A hypothesized productive system is Mathematics™ it 1s said
by

) Bell

2z Maria Pierre
3 Locke

4. Aristotle

Joo
Szl 2 )
J103
fb'r.z'i 4
Options :
1. % 1
2.9 2
3.% 3

4. % 4



Question Number : 106 Question Id : 39226623506 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

“Socio Cultural theory™ was formulated by

1. Piaget

2 Skinner

fsd

Vygotsky
4. Adam Smith

2l .l
T
Yl 2
i
Sl 3
i 4
Options :
1. % 1
2.% 2
3.¥3

4, % 4



Question Number : 107 Question Id : 39226623507 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The author of the book ‘Karana Kutuhalam’

1. Bhaskaracharya - II
2 Brahma Guptha
3. Aryabhatta
4. Srinivasa Ramanujan
—< L _(I" *Karana Kutuhalam’
_,-""
[[- /el J
l;'--*:;ly""‘:"hJr 2
L_-"_,_zf__,‘,-li 3
;_}'::,JLUW‘{::/F' 4
Options :
1.1
2. %2
3.% 3

4, % 4



Question Number : 108 Question Id : 39226623508 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Play — Way method was introduced by

I Anderson
2. Kilpatrick
o Frederick Froebel
4. Armstrong
R LT N
Ve sl 190 S s
Cf J#:-"'_l 5 1
by 4
I»_-rI J':Lh—'b 2
4 " }__Jj 3 .‘;
o - J'ArH; i
b-"fjl ;'—l‘#z'r 4
Options :
1. % 1
2. % 9
3.3

4. % 4



Question Number : 109 Question Id : 39226623509 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The specification ‘Selects appropriate method™ comes under
this objective

I Skill
2 Understanding
3 Knowledge

4. Application

=\ 1
& 2
= 3
i 4

Options :
1. % 1
2. % 2
3.%3
4.9 4



Question Number : 110 Question Id : 39226623510 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Scientist who considered ‘appreciation” as a mathematical
value is

1 Breslich
2 Young
3 Munnik
4, Schorling
ce B P U P s ns
&
of 2
g 3
L 4
Options :
1.v' 1
2. %2
3.%3

4.% 4



Question Number : 111 Question Id : 39226623511 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Last step in problem solving method

1. Estimate the result
2 Checking the result
3. Compare
4. Translating
Jo pS 7 L F L S
IS
L. fi;f-?df-f’f ' 2
L’;IPE_,,EL"iT 3
S22 4
Options :
1. %1
2.2
3.% 3

4, % 4



Question Number : 112 Question Id : 39226623512 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Method of designing the curriculum keeping in mind the needs

and interest of the child

1. Concentric method

1

Psychological method

'__J-J

Spiral method

4. Topical method

- -

. * [ e Fa wal o] | - i |
3P RO D22 P ud s s PO

Options :
1. % 1
2.2
3.% 3
4. % 4

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

L
1\:_ }:
#T_ (.:l
b H
b
lsd k-

s
L
&
| ¥
5
B

Section 7
392266760
7
Online
Mandatory
24
24
12
0
1
392266873
Yes



Question Number : 113 Question Id : 39226623513 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The major source of Sulphur dioxide and Nitrogen dioxide are

L. Burning of tires

1

Petroleum refineries

o

3. Air conditioners

4. Herbicides

Iy ]

.—"r," LJ_,.- "'.!_;:'-Er 2

<y e 3

h/;l.-'_,": 4

Options :

1. % 1
2.2
3.% 3

4, % 4



Question Number : 114 Question Id : 39226623514 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Salivary gland : ptyalin : : Pancreas : ?

1. Lipase, Trypsin

o

Trypsin. sucrase

.l

! Lipase, Pepsin

4. Amylase, Sucrase
I y
¢ ’,.le ,;r,-"....'L: u#‘.ub_,l
hf'r;-“' . r'.:'-"LE-J 1
.’f (]
PR ¢ 2fm
-l'H.ﬂ" [ - .
gty Al 3
P i .
.-'"rf 0 ;-':L:.‘Ll 4
Options :
1.1
2. %2
3.% 3

4. % 4



Question Number : 115 Question Id : 39226623515 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The structure that prevents entry of food into Larynx is

1. Glottis
2. Tongue
3. Epiglottis

4. Oesophagus

A 1
P 2
JL}:"/ 3
S 4
Options :
1. % 1
2. %2
3.¢¥3

4.% 4



Question Number : 116 Question Id : 39226623516 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following

A. Stomata L. Absorption of water
B Xylem IL. Transport of food
C. Root hairs [lI.  Transpiration
D Phloem [V.  Transport of water
du-{';}?
)74 g A
s -
C00 N | .
Fdd v ¢ D

I A-LB-ILC-IILD-1V
A-NILLB-1IV,C-LLD-1I
A-LB-IIILC-I.D-1V
4. A-IILB-ILC-1L.D-1IV

Options :
1. % 1
2.¥2
3.%3
4. % 4

o

fad



Question Number : 117 Question Id : 39226623517 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The part of the brain that controls posture and equilibrium of
body

1. Diencephalon

2

Cerebrum

Cerebellum

L

4. Medulla Oblongata

- -~ - p 4
w ) sf . o e i
-.“'"__qul!j'l.f;fgd.!l.fﬂp- 5.~_.|f>:3.~=?a_sb;_,,l..:

-._*Ifl.fl_fi.} N
';
C 2
& 3
-:._'r‘.- ja®
l_,f" 93 4
Options :
1. % 1
2. %2
3.3

4.% 4



Question Number : 118 Question Id : 39226623518 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The element in water that controls the metamorphosis of
Tadpole into adult Frog is

l. [ron

2. Calcium
5. Cadmium
4. lodine

e L PR
-

| e I-"’ b ;_J S i .~ .:"" - - . ",II
finde tSir AL I 2585 2 4 002 ey

S

22

A3

.;,r.i',:” 4

Options :

1. %1
2. % 2
3.%3

4.9 4



Question Number : 119 Question Id : 39226623519 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Correct inference when an animal cell is kept in a salt solution.

b In isotonic solution the cell will shrink.
P In hypertonic solution the cell will stay in the same size
3. In hypotonic solution the cell swell and rupture
4, The cell dissolves
.:"_,.—,.f;’ j |I|-r_.-f',_,, Lp“;._wl.pl ,q_,-.\_,,l,' f_i_.w-;..;d f..{-.
62 b5 Bt JF (DA
Snfdw el SLIF(EI L0 2
(2 ot sz bk L AJF(IA)FEocd  3
2 Lbn S 4
Options :
1% 1
2. % 2
3.3

4.% 4



Question Number : 120 Question Id : 39226623520 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The character helpful to identify bad quality seed

. Sinks in water

2. Having round shape

3 Contain dark colour and texture
4. Floats on water

R i [ 73 @ itk & ;-'J- ;
.’}:;f?ﬂ)df.!%::;b%.i-;_f-:.-J’Lr-g_,‘?;_;..:’-—u ]

L«-s}_,ﬁ.,_:’L' |

s =
L.!’"bg_;bﬂulll 2
LW:LE"_".-J’VAM-L';J’_-H 3

T
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|
afer—
o

Options :
1. %1
2. % 2
3.% 3
4.9 4



Question Number : 121 Question Id : 39226623521 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The food items that contain Vitamin C
L. Liver

I1. Mirchi

[II. Banana

IV. Tomato

bbbl C Sl U2 Qs
koo
&r I
1 |
A IV
. 1.0
2. ILIV
3. LIV
4. ILIII
Options :
1. %1
2.2
3.% 3

4.% 4



Question Number : 122 Question Id : 39226623522 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The speedo meter in vehicles record the speed in

1. cm/s
2 m/s

3. m/min
4. km/h

- P
o | * g% & b by b
PR TVAVLI V) SV T VU N Pl

-

o R 1
prn
.u‘:J'-_L},}": 2
B E 4
Options :
1. % 1
2.% 2
3.%3

4.9 4



Question Number : 123 Question Id : 39226623523 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Combination of the two or more electrical cells i1s called

1. MCB

. Fuse
3. Circuit
4. Battery

- .
o Ty Vi o !
o Ul SR YG S rasl e asl s

MCB N

i 2

J".‘L}J: 3

g 4

Options :

1. %1
2.% 2
3.%3

4.9 4



Question Number : 124 Question Id : 39226623524 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Naphthalene balls that are used to repel moths are obtained
from

1. Coke
2. Coal
& Coal tar
4. Coal gas

1 | | i F-.-lr-' - | 3 I l. - | o -{"’_‘- |/. Fs
OOV -S—JF-;.,',I-:"J el Uil L bry =l ~

" FJ"”;,'F!" r3 i3
Ly p.

A ' 3
L.,-'"'*i' o 4

Options :
1. %1

2.% 2
3.¢°3
4. % 4



Question Number : 125 Question Id : 39226623525 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Correct order of frictions.

X. Sliding friction
b Rolling friction
Z. Static friction
o O
& et s O 07
Fa Jdrji‘;‘ X
o ;—-H:{I'g' Y
I:: .1 ’
7 I B
1. X &Y <7
5.3 ¥ «lxX
3 ¥<X<Z
4. X $ZRY
Options :
1. % 1
2. % )
3.¢3

4, % 4



Question Number : 126 Question Id : 39226623526 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Strongest Fibre among the given fibres

2 Wool

2 Polyester

3. Silk

4. Nylon
&/ 1 ]
ﬂ'lk 2
| T 3

G 4

Options :
1. %1
2. %2
3.% 3
4.9 4



Question Number : 127 Question Id : 39226623527 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the fruit that is not exported by us from the following.

L. Mango
2 Pomegranate
3 Dragon fruit
4. Banana
I A A EseS St S it
EA
o2
=

L

-
L

g N
L WP
ad

w4
Options :
1. % 1
2. %2
3.3

4.% 4



Question Number : 128 Question Id : 39226623528 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A Device used to protect buildings from the effect of lightning

| Seismograph

2 Electroscope

3. Tester

4. Lightning Conductor

A

| 7 d‘ ;_,E;.TI i_,,'.!'l.x quh,;-qgur‘? as

P &
el e L sB¥ o

i e 1
o~ 4
Y I} .--_L,i I
2= 3
JE 4
Options :
1. %1
2. % 2
3.% 3
4. 4
Sub-Section Number : 2
Sub-Section Id : 392266874

Question Shuffling Allowed : Yes



Question Number : 129 Question Id : 39226623529 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This is not a component of substantive structure of science
structure

1. Concepts
2. Theories
3. Methods
4. Laws

§ (substantive structure) =3t/ # § =31 St St

-’:-uf-::}x”’}

el? ]

Lp 2

2r 3

LiF 4

Options :
1. % 1
2. %2
3.3
4. % 4



Question Number : 130 Question Id : 39226623530 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Sharing of learners opinions based on key words will be done
in this stage

k. Conceptual understanding
2 Conduct activities
3, Demonstration - discussion

4. Mind mapping

- - r wf = A . -
et L pUBK LS P IAE
“::ﬂf df:f'f.ﬁj ].

|3
o
e,
ﬁi‘
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0
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Options :
1. % 1
2.% 2
3.% 3
4.9 4



Question Number : 131 Question Id : 39226623531 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Unit is an elaborative concept which is inter related in nature”
is defined by

1. Preston
& Willbert
e Bosing

4, Card well

-+
Y

: AR r o L ity
® R L e LT 3] * 3
B W T, PN BT o G B T 8- ST (T 1]

Ji

Iy 1
e 24
_J:;:j 3
._,: Ar g 4

Options :
1.¥1
2. % 2
3.% 3
4. % 4



Question Number : 132 Question Id : 39226623532 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

A student explained the relation between beak shape and food
habits of birds. The objective achieved by this is

1. Knowledge
2, Skill
3 Application

4. Understanding
i o g Bk G g ok -
L;’.."..J‘L-:.*-J:L:-uL;!.l,ﬁ;:r_.;_,':m,_,':ljug'brfu'&”L_:@:,:.f_.u'e,»{;l"h_f-'wﬂF
- I:Sp -~ p
‘:':WE.L:.U e Lot
S 1
=N\ 2
il 3
i 4
Options :
1. %1
2. % 2
3.3

4.% 4



Question Number : 133 Question Id : 39226623533 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

First step in 5 - E model of learning

1. Evaluate
2. Engage
3 Explore

4. Explain

e
L/ &b ]

s> 2
L..-»'I :-:’L,JJ 3
L/ =2les 4

Options :

1. % 1

2.2

3.% 3

4, % 4



Question Number : 134 Question Id : 39226623534 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s used to evaluate science textbooks keenly

1. Vogel evaluation tool
2. Thurston evaluation tool
3. Termon evaluation tool
4. Long field evaluation tool
i o | i ‘;: ﬂh:.l- L "-’:'-"J Y e | |f et
=l u'h*“'Fu-”'-e-a-eufuL:’ Waouldle o L
JKebFe 1
ke A 2
JKeL s 3
EE it LU 4
Options :
1.v 1
2. % 9
3.% 3

4, % 4



Question Number : 135 Question Id : 39226623535 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This is not a character of Analytic Rubrics used in evaluation

1. contains concepts to express clear responses
2 useful for making student profile
3. less priority for creativity
4. easy for teacher
Pl U .:.f:"*“”" ;_,E:_, ";’USL;;L}D{_.KJF;“'L;:E;LF#UF::VE 3(oa2
- - m F
u{}’.l.l:;_g:.fbr‘z"LJ!i.x' by ;_;l" 20 e ST 1
.Lt*,wﬁi’,:yfi.jzfj.;u;;’:& 2
o x |;-=f”:-=-.’f7 ISus ot 3

i

e brgid L~
Options :
1. %1
2.% 2
3.%3
4.9 4



Question Number : 136 Question Id : 39226623536 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

After reading APJ. Kalam’s biography. he too decided to work
with dedication. The scientific value obtained by him is

L. utilitarian value
5 moral value
3 scientific attitude value
4. intellectual mll e
-~ r"" )ﬁ'

-—J:"'.E:ﬂb’"h;—-.dl E/ L’-h—'u

Options :
1. %1

2.2
3.%3
4. % 4

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Section 8
392266761
8
Online
Mandatory
24
24
12
0
1
392266875
Yes

P W B2



Question Number : 137 Question Id : 39226623537 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The island of “Diu’ is relatively near to this state

[

Lad

Options :

1. %1
2. % 2
3.¢¥3
4. % 4

Karnataka
Goa
Gujarat

Kerala

eyl I
*f 2

- 'j:*lﬁ 3
i 4



Question Number : 138 Question Id : 39226623538 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

These forests are the habitats for Lion — tailed Macaque

1. Dry deciduous forests
2 Evergreen forests
3. Mountain forests
4. Mangrove forests

Options :
1. %1
2.9 2
3.% 3
4. % 4



Question Number : 139 Question Id : 39226623539 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The state that shares its land frontiers with Myanmar and
Bangladesh is

1. Tripura

2 Mizoram
5 West Bengal
4. Assam
i i : = | o
;:de:ijﬁ;" L:F:J';_-H,-r:' 'Iﬁx‘l;bk"
"x.e";--:: 1
| A3 ’:': .2
JEJ A 3
- 4
Options :
1. % 1
2.2
3. % 3

4. % 4



Question Number : 140 Question Id : 39226623540 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The famous book ‘“Madhuravijayam™ was written by
1. Tallapaka Timmakka

Atukuri Molla

-2

=]

3: Gangadevi

4. Nagalamba

- -y

A B i e ’ ey
Jrei< L ‘Madhuravijayam’™ o\
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Options :
1. %1
2.% 2
3.3

4.% 4



Question Number : 141 Question Id : 39226623541 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

He was the Governor General of India when the Permanent
Settlement was introduced

1. Warren Hastings
2. Cornwallis
3. William Bentinck

4. Dalhousie
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Question Number : 142 Question Id : 39226623542 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to Wood’s Despatch, the British government
established universities in these cities

1. Bombay, Madras, Calcutta

Z; Hyderabad, Delhi, Kanpur
3. Banaras, Srirangapatnam
4. Bombay, Calcutta, Delhi
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Options :
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Question Number : 143 Question Id : 39226623543 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Ashoka’s inscriptions on Kalinga war were found on the rock
edict no:
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Options :

1. % 1
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Question Number : 144 Question Id : 39226623544 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statements related to E.V. Ramaswamy
Naicker from the following

A. He is well-known as Periyar
B. He came from upper class family
L He studied Sanskrit scriptures carefully in his early life.
D. He supported Hindu Scriptures
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Options :
1.v¥1
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Question Number : 145 Question Id : 39226623545 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Fundamental Duties were added to the Constitution of
India in this year by the 42" Constitutional Amendment
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1.v 1
2. %2
3.% 3
4. % 4



Question Number : 146 Question Id : 39226623546 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The Muhammadan Anglo Oriental College was founded by

1. Mohammad Al Jinnah

o

Sayyid Ahmed Khan

]

3. Khijir Khan
4. Fazl Ali Khan
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Options :
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Question Number : 147 Question Id : 39226623547 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

He was the only President to be re-elected for the second term
ks Dr. Sarvepalli Radha Krishnan
Dr. APJ Abdul Kalam
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K.R. Narayanan
4. Dr. Babu Rajendra Prasad
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Question Number : 148 Question Id : 39226623548 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Oceania covers

). Australia, Indonesia, Philippines
& Indonesia. Vietnam, Pacific Islands
H Australia, New Zealand, Philippines
4, Australia, New Zealand, Pacific Islands
M SE 90 L Oceania
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Options :
1. % 1
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Question Number : 149 Question Id : 39226623549 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

[t is not used by the tailor

1. Bobbins

]

Measuring tape

Machine oil

(%]

4. Plum bob
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Options :
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Question Number : 150 Question Id : 39226623550 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The crop that requires two hundred and ten frost - free days is

1.

[

.

Options :

1. %1
2. % 2
3.% 3
4.9 4

Wheat
Maize
Coffee
Cotton
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Question Number : 151 Question Id : 39226623551 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Vivekachudamani, Soundarya lahari, Sivananda lahari,

Atmabodha etc... were writings of

I Ramanujacharya

o

Adi Shankaracharya

fad

Madhvacharya

4. Vallabhacharya
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Question Number : 152 Question Id : 39226623552 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This is not a part of the "Ashrama System’

1. Grihastha

[

Gnanaprastha

-]

3 Vanaprastha
4. Sanyasa
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Sub-Section Number : 2
Sub-Section Id : 392266876

Question Shuffling Allowed : Yes



Question Number : 153 Question Id : 39226623553 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Marks allotted to an essay question in Summative Assessment
for Class VI

1 10
2 8
3 6
4. 4

Options :

1. %1

2.92

3.% 3

4. % 4



Question Number : 154 Question Id : 39226623554 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The author of “The Prince’ 1s

l. John Locke
2, Rousseau
3, Montesquieu

4. Machiavelli
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1. % 1
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Question Number : 155 Question Id : 39226623555 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This method is based on the principle of ‘Not learning to live
but Learning through living’

I [ecture method

2

Project method

(9]

Problem Solving method

4. Activity Based method
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Question Number : 156 Question Id : 39226623556 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Education 1s a key tool to effectively face challenges and
build a powerful society” — stated by

1. Jawaharlal Nehru

2. Kautilya
43 M. Visweswaraiah
4. Amarthyasen
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Question Number : 157 Question Id : 39226623557 Question Type

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

They help to develop teaching and learning skills
A. Seminar

B Simulation technique

B Panel Discussion

D Work shop

E: A-B.C
.3 A.CD
2 A.B.C.D
4. B.C.D
Options :
1. % 1
2. % 2
3.3

4.% 4

: MCQ Option Shuffling : No



Question Number : 158 Question Id : 39226623558 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Kondaveedu Fort™ i1s a

b Natural source, Written source
2 Historical source, Primary source
3. Written source, Secondary source
4. Primary Source, Natural source
~c ™ =
i - ¥ s d sy
o =
dadgf o Ao L
s Ao 2
LS9 b f 3
- | - | u.-’f -
3 -
A aQua ¢ sl -
Options :
1% 1
2.2
3.%3

4.% 4



Question Number : 159 Question Id : 39226623559 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

These are used to find out the relationship between Price and

Demand
1. Bar graphs
= Pie graphs
3. Line graphs
4. Venn graphs
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Options :
1. %1
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Question Number : 160 Question Id : 39226623560 Question Type : MCQ Option Shuffling :
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“The process of knowing how far the educational objectives
have been achieved is Assessment” said by

1. Benjamin S. Bloom
2: Ralph Tyler
3. NCERT

4. Vidya Vijnan Sarvaswam (1960)
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